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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2021. 

Fifth Semester 

Economics — Main 

MONEY AND BANKING –– I 

(For those who joined in July 2017 onwards) 

Time : Three hours Maximum : 75 marks  

PART A — (10 × 1 = 10 marks)  

Answer ALL questions. 

 Choose the correct answer : 

1. £n® Gøu GÀ»õ® ö\´QÓ÷uõ Ax÷Á £n® 
GßÖ TÔ¯Áº? 

 (A) QöμÍuº  (B) μõ£ºm\ß 

 (C) ÁõUPº  (D) £õÀ Cß][ 

 “Money is what money does” who said it? 

 (a) Crowther (b) Robertson 

 (c) Walker  (d) Paul Einzing 
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2. £n® Gß£x C¯À£õÚ |øh°À 

 (A) PõQu¨ £n® 

 (B) PõQu¨ £n® (©) øÁ¨¦ {v 

 (C) PõQu¨ £n® (©) AøÚzx Á[Q øÁ¨¦ 

 (D) AøÚzx }ºø© ö\õzxUPÐ® 

 Money in the normal sense, means 

 (a) Currency 

 (b) Currency and demand deposite 

 (c) Currency and all bank deposite 

 (d) All liquid assets 

3. Âø» ö£õ¸ÍõuõμzxU £n® ªPÄ® •UQ¯©õP  
–––––––– ö£õ¸öÍßÔÀ EÒÍx. Âø» C¯¢vμ 
Ai¨£øh°À £nzvß ÂøÍÁõÚx. 

 (A) •u»õÎzxÁ ö£õ¸ÍõuõμzvÀ 

 (B) \•uõ¯ ö£õ¸ÍõuõμzvÀ 

 (C) vmhªmh ö£õ¸ÍõuõμzvÀ 

 (D) P»¨¦ ö£õ¸ÍõuõμzvÀ 

 Money as a basis of price mechanism in money in 

 (a) Capitalist economy 

 (b) Socialist economy 

 (c) Planned economy 

 (d) Mixed economy 
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4. C¸ E÷»õP•øÓ G¨ö£õÊx |øh•øÓ¨ 
£kzu¨£mhx 

 (A) 1873   (B) 1803 

 (C) 1900   (D) 1930 

 Bimetallism existed upto 

 (a) 1873   (b) 1803 

 (c) 1900   (d) 1930 

5. ö£õsvmh® ö\¯À£h CøÁ •UQ¯©À» 

 (A) {ø»¯õÚ ©õØÖÃu® 

 (B) {ø¯õÚ EÒ©v¨¥mk Âø» 

 (C) uøh°À»õ Áõo£® 

 (D) ÷uøÁ ö|QÌa] 

 Working of gold standard does not essentially 
require  

 (a) Stability of exchange rates 

 (b) Stability of internal prices 

 (c) Free trade 

 (d) Elastic demand 
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6. ö£õx Âø» ©mh® ©ØÖ® £nzvß ©v¨¦ 
CÁØÔØQøh÷¯ EÒÍ EÓÄ •øÓ 

 (A) ÷|μi    

 (B) ©øÓ•P 

 (C) uøÇRÌ   

 (D) |k{ø»¯õP (ÂQuõa\õμ•øÓ) 

 The relationship between value fo money and 
general price level is 

 (a) Direct  (b) Indirect 

 (c) Inverse  (d) Proportional 

7. ¤¼¨ì ÁøÍ÷Põk Gu÷Úõk öuõhº¦øh¯øu 
PõmkQÓx? 

 (A) £nÃUP® ©ØÖ® ÷Áø»Áõ´¨¦ 

 (B) T¼ÂQu® ©ØÖ® ÷Áø»°ßø© 

 (C) Á›ÂQu® ©ØÖ® Á›Á¸Áõ´ 

 (D) ö£õxÁ¸©õÚ® ©ØÖ® ö\»Ä 

 Phillips curve shows relationship between 

 (a) Inflation and employment 

 (b) Rate of wage and unemployment 

 (c) Rate of tax and tax revenue 

 (d) Public revenue and expenditure 
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8. £nÃUP CøhöÁÎ GßÓ P¸zøuu¢uÁº 

 (A) ÂUö\À  (B) Rßì 

 (C) ªÀhß ¤›mö©ß (D) A.W. ¤¼¨ì 

 The concept of inflationary gap was given by 

 (a) Wicksell  (b) Keynes 

 (c) Milton Friedman (d) A.W. Philips 

9. £nÁõmh® ¯õ¸US |ßø© 

 (A) EØ£zv¯õÍºUS 

 (B) ÁõoPº 

 (C) {ø»¯õÚ Á¸©õÚ |£ºPÐUS 

 (D) PhÚõÍºPÐUS 

 Deflation is beneficial to 

 (a) Producers  

 (b) Traders 

 (c) Fixed income groups 

 (d) Debtors 
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10. CÁØÔÀ Gx AßÛ¯a ö\»õÁo Pmk¨£õmk 
•øÓ¯À» 

 (A) uø»±mk •øÓ 

 (B) uøhö\´¯¨£mh PnUS 

 (C) u[P vmh® (öPõÒøP) 

 (D) £Szuõ´uÀ 

 Which of the following is not a method of exchange 
control? 

 (a) Intervention (b) Blocked account 

 (c) Gold policy (d) Rationing 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 250 words. 

11. (A) £nzvß wø©PøÍ ÂÁ›. 

  Describe the demerits of money. 

Or 

 (B) £sh ©õØÖ •øÓ°ß £s¦PÒ ¯õøÁ? 

  What are the characteristics of barter 
system? 
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12. (A) öμõUP C¸¨¦ ÷Põm£õmiøÚ ÂÍUSP. 

  Enumerate the cash balance approach. 

Or 

 (B) ö|¸[Q¯ £n® GßÓõÀ GßÚ? 

  What is near money? 

13. (A) |k{ø»¨ £n® GßÓõÀ GßÚ? 

  What is mean by neutrality of money? 

Or 

 (B) Phß EØ£zv GßÓõÀ GßÚ? 

  What is credit creation? 

14. (A) £nÃUP Põμn[PÒ ©ØÖ® Auß ÂøÍÄPÒ 

£ØÔ ÂÁ›. 

  Describe the causes and effects of inflation. 

Or 

 (B) C¢v¯ £n A[Põi°ß wø©PÒ ¯õøÁ? 

  Explain the demerits of Indian money 

market. 
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15. (A) £nUöPõÒøP°ß ÷|õUP[PÒ ¯õøÁ? 

  What are the objectives of monetary policy? 

Or 

 (B) J¸ E÷»õP |õn¯ •øÓ°ß |ßø©PÒ 

©ØÖ® wø©PÒ ¯õøÁ? 

  What are the advantages and disadvantages 

of monometalism? 

PART C — (5 × 8 = 40 marks)  

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) £nzvß £À÷ÁÖ £oPøÍ ©v¨¤kP. 

  Evaluation the various function of money. 

Or 

 (B) u[P |õn¯ •øÓÃÌa] Aøh¢uuØPõÚ 

Põμn[PÒ ¯õøÁ? 

  What are the reasons for the breakdown of 

gold standard? 
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17. (A) £n AÍÄ ÷Põm£õmiøÚ vÓÚõ´P. 

  Critically examine the quantity theory of 
money. 

Or 

 (B) ÷P®¤›mâß öμõUP C¸¨¦ ÷Põm£õmiøÚ 
ÂÁ›UP. 

  Describe the Cambridge version of cash 
balance approach. 

18. (A) ö£õ¸Íõuõμ •øÓ°À £nzvß £[QøÚ¨ 
£ØÔ ÂÁõvUP. 

  Discuss the role of money in the economic 
system. 

Or 

 (B) £n ÃUPzvß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

  Explain the various types of inflation. 

19. (A) Phß Pmk¨£õmk•øÓPøÍ¨ £ØÔ ÂÍUSP. 

  Explain the methods of credit control. 

Or 

 (B) ÁoP Á[QPÒ PhøÚ ö£¸USÁvÀ EÒÍ 
|øh•øÓ £ØÔ TÖP. 

  State the credit creation process by 
commercial bank. 
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20. (A) £nÂ¯À öPõÒøP°ß ÷|õUP[PÒ ©ØÖ® 
Auß SøÓ£õkPøÍ¨ £ØÔ ÂÁ›. 

  Describe the various objectives and 
limitations of monetary policy. 

Or 

 (B) C¢v¯õÂß £nU öPõÒøP°ß 
ö\¯À£õkPøÍ vÓÚõ´Ä ö\´P. 

  Critically examine the working of monetary 
policy in India. 

——————— 

 


